R

1
No. =3 A
1 | 5 &3
2 | Ao~ P
3 | Lock—Claw ~HoHA A
4 EC= K|
5 EE s 83
6 | o-2 NBR
7 Break ring BN
N
| O = 1.2 (12.0)
Ao Areas MPaban oo )
ANgeS T | 5~60
ARE0H A A=37|, =
HE LU 2, SR E
572 M5,1/8,1/4,3/8,1/2
HEES9ZE | mm | $4.06,68,¢10,12
SEHHA (mm)
OD | o4 | 06 | 08 | 10 | 12
R 20 | 30 | 50 | 80 | 150

Parker RS

362




° _
HE X| o[E
=
S
= - HESA(P) = £ HREA(P)
71E Model | & +4 Tel a0l 2 7|1 & Model| 8 &+24 EEAEAERER
M5 Ol O M5 O O
7 |olololo FrEREEE
SLPAF 29E Fsc| 14 [Olo]olo]o] |y sius A EIEEEE
378 olololo 38 olololo
172 ololo 172 ololo
M5 Ol O M5 O] O
R EIEIEE TEEIE
SLHAF e FscL| 174 | O] O] OJO] O] |L8 #4e FSES| /4 ol oo
378 olololo 38 ololo
172 ololo 172 oo
M5 Ol O X 54 HZA FUC - O]l Ol 0|10l 0
R EIEIEE 2210l vg@sAea | FEY | - | 0| O] O] O] O
L #ue FsE| 14 |O]OlO|O] 0| [B319 (Bz2ad [ rep ololololo
3/8 olololo % |o
08
12 O1OV Ol | 210 (83202 | FEYR O
M5 Ol O 10 O
R EIEIEE 12 0
21L8 e FE| 14 [O]OlO]OO % |o
3/8 010101 0] |ama snci 08 o
7 ololo AR sAHA FUER 0 o)
7 |olololo 12 o
06 O
I L eI - -
i Y& sAHZA FUYR
1/2 O 10 O
R EIEIEE 12 O
74 Jololololo o4 oo
A A FSFP 3/8 O[O O HEY 54 HAFE FUM P6 Of O
1/2 O P8 O
M5 O] 0|0 178(@4) o
7 |olololo veien o |ruvclA@Y 0
T8 HE AN EIEEEE 174(@6) 0
3/8 olololo 3/8(¢8) o
1/2 OO O @4 Ol O
M5 Ol O ZJ01HE[ZAHZE |FUML P6 O
7 |olololo @8 5
T H4H FSTL 1/4 O[Ol OO O T 54924 FUT - O]l Ol 0100
378 olololo| Y& s2ez Fv| - Jololololo
1/2 O[O O URY sAHE FUE - O]l Ol 0|10l 0
e Fs8| - |olo|olo] 0| [z s2ez FL| - Jololololo

Parker RS




LA 24IE] / FSC

(S42] - mm)
= HEgRE a9
= H 97 (@) T(PT) L A 2 o|F Hex
FSC04—M5 4 M5x0.8P 21.9 46 15.9 10x11.5
| Tubes | FSC04—1/8 4 R1/8 21.6 8 15.9 10%11.5
T y FSCO04—1/4 4 R 1/4 20.6 10 15.9 14 %161
r S 8| _FSC06-M5 6 M5x 0.8P 23.6 46 16.5 10x11.5
& T FsSCo6-1/8 6 R1/8 222 8 16.5 12x13.8
ol FSC06—1/4 6 R1/4 21 10 16.5 14 %161
. FSC06-3/8 6 R3/8 22 11 16.5 17x18.5
FSC08—1/8 8 R1/8 27.5 8 17.7 12x13.0
- FSC08—1/4 8 R1/4 25.5 10 17.7 14x15.4
A W FSC08-3/8 8 R3/8 23 11 17.7 17x18.5
T I <| FSC08—1/2 8 R1/2 29.7 14 17.7 20%24.5
/ U FSC10-1/8 10 R1/8 28.7 8 18.6 12%13.0
FSC10—1/4 10 R1/4 30.7 10 18.6 14x15.4
/ T FSC10-3/8 10 R3/8 247 11 18.6 17x18.5
FSC10-1/2 10 R1/2 29.7 14 18.6 20%24.5
FSC12-1/4 12 R1/4 32.8 10 20.9 14x15.4
FSC12-3/8 12 R3/8 29.8 11 20.9 17x18.5
FSC12-1/2 12 R1/2 29.8 14 20.9 22 %24 5
SLIAF 241E| / FSCL sl
NREH E b ALO|
I o3 () T L A %*Oﬁ'; Hex
FSCL04-M5 4 M5%0.8P 21.8 46 15.9 02%2.31
FSCL04-1/8 4 R1/8 20.4 8 15.9 03%3.46
1 TUBEe_| FSCLO4—1/4 4 R1/4 20.4 10 15.9 03%3.46
T 1€ =] FSCLO6—M5 6 M5 0.8P 22.6 4.6 16.5 02x2.31
[ FSCL06-1/8 6 R1/8 21.8 8 16.5 04 %4.62
FSCLO6—1/4 6 R1/4 22.5 10 16.5 04 %4.62
w FSCL06-3/8 6 R3/8 22.5 11 16.5 04 %4.62
- FSCL08—1/8 8 R1/8 27 8 17.7 06 %6.93
L ____ FSCL08-1/4 8 R1/4 25 10 17.7 06 %6.93
£ FSCL08—3/8 8 R3/8 25 11 17.7 06 %6.93
T lg < FSCL08—1/2 8 R1/2 25 14 17.7 05%5.77
‘\Jyﬂﬁ;ﬁ:@ FSCL10-1/8 10 R1/8 27 8 18.6 06 %6.93
== FSCL10—1/4 10 R1/4 26.6 10 18.6 06 X6.93
HEX FSCL10-3/8 10 R3/8 26.6 11 18.6 06 X6.93
FSCL10-1/2 10 R1/2 26.6 14 18.6 06 X6.93
FSCL12—-1/4 12 R1/4 32.4 10 20.9 06 %6.93
FSCL12-3/8 12 R3/8 32.4 11 20.9 08x9.24
FSCL12-1/2 12 R1/2 32.4 14 20.9 08x9.24
ULIAL 24IE / FSF (42l - mm)
g ow | D8RS T L A gedd Hex
. 1% (@) 2 olF
- L‘—4 FSF04-1/8 4 PT1/8 26.7 9 15.9 12x13.0
=" FSF04—1/4 4 PT1/4 28.7 11 15.9 14x15.4
[ FSF06-1/8 6 PT1/8 27.3 9 16.5 12%13.0
N FSF06—1/4 6 PT1/4 29.3 11 16.5 14x15.4
FSF06-3/8 6 PT3/8 30.2 12 16.5 17x18.5
y FSF08—1/8 8 PT1/8 28.5 9 17.7 12x13.0
FSF08—1/4 8 PT1/4 30.5 11 17.7 14x15.4
FSF08-3/8 8 PT3/8 315 12 17.7 17x18.5
FSF10-1/8 10 PT1/8 31.4 9 18.6 12x13.0
L] < FSF10-1/4 10 PT1/4 31.5 11 18.6 14x15.4
( I . FSF10-3/8 10 PT3/8 32.4 12 18.6 17x18.5
T FSF12-1/4 12 PT1/4 347 11 20.9 14x15.4
I FSF12-3/8 2 PT3/8 347 2 20.9 17x18.5
FSF12-1/2 12 PT1/2 36.7 14 20.9 22%24.5
m Pneumatic 364



HEX| Z|E

LA} 24 / FSFP (9] - mm)
g w | J8F= oY
= ull oA (@) T L N M A HexN 2 olF Hex
R FSFP04—1/8 4 PT1/8 [ 26.7 [ 5 | M12x1.0P[ 9 [ 14x16.1 | 16.8 [ 14x16.1
= 13 FSFP06-1/8 6 PT1/8 | 28.3 | 5 | M14x1.0P| 9 [ 17x196 | 17.6 | 17x19.6
85 FSFP06—1/4 6 PT1/4 | 30.3 | 5 | MI4XT.0P | 11 | 17X196 | 17.6 | 17x19.6
o |K 25 FSFP08—1/8 8 PT1/8 [ 29.5 [ 5 [ Mi6x1.0P| 9 [ 19x21.9 [ 187 [19x21.9
y E“I Lr] . FSFP08—1/4 8 PT1/4 [ 315 [ 5 [ M16x1.0P | 11 [ 19x21.9 [ 187 [19x21.9
)] T FSFP08—3/8 8 PT3/8 [ 325 [ 5 [ M16x1.0P | 12 [ 19x21.9 [ 18.7 [22x25.4
i .~ _FSFP10-1/4] 10 PT1/4 | 32.4 | 5 [ M20x1.0P | 11 | 24x27.7 | 19.6 | 24x27.7
. FSFP10-3/8] 10 PT3/8 [ 33.4 | 5 [ M20x1.0P | 12 [ 24x27.7 [ 19.6 [ 24x27.7
. FSFP12-1/4] 12 PT1/4 [ 37.9 [ 5 [ M22x1.0P [ 11 [ 26x30.0 | 21.9 [24x27.7
M-HEXe VT FSFP12-3/8 12 PT3/8 | 37.9 | 5| M22x1.0P | 12 | 26x30.0 | 21.9 | 24x27.7
FSFP12—1/2] 12 PT1/2 [ 39.9 [ 5 [ M22x1.0P | 14 | 26x30.0 [ 21.9 [24x27.7
eiLtAt Z2HE / FSB (2491 - mm)
M-SCREW = HgRE Feied N—Z0]
Pz E Y ame | | 2o M (N=Hex)
FSB04 4 29.8 16.3 M12x10P [ 5(14x16.1)
FSB06 6 33 17.6 M14x10P | 5(17x19.6)
i FSB08 8 35.4 18.7 M16x10P 5(19%x21.9)
1 — FSB10 10 37.8 19.6 M20x10P | 5(24x27.7)
NHEX'e FSB12 12 47.4 21.9 M22x10P | 5(26x30.0)
Looﬂ _E_E!Ei / FSE (SHl : mm)
MNEJ E -d ALO|
B v | 9 | T : -
FSE04—M5 4 M5x0.8P 27.25 23.8 4.6 10x11.0
" FSE04—1/8 4 PT1/8 29.75 23.8 8 10x11.0
L‘F—% FSE04—1/4 4 PT1/4 31.75 23.8 10 14x15.4
: — FSE06—M5 6 M5x0.8P 30.25 26.5 4.6 10x11.0
7 r~\ FSE06—1/8 6 PT1/8 32.75 26.5 8 12x13.0
LT | FSE06—1/4 6 PT1/4 35.75 26.5 10 14x15.4
g , _FSE06-3/8 6 PT3/8 36.75 26.5 11 17x18.5
= FSE08—1/8 8 PT1/8 35.15 29.7 8 12x13.0
T FSE08—1/4 8 PT1/4 38.15 29.7 10 14x15.4
) A FSE08—3/8 8 PT3/8 39.15 29.7 11 17x18.5
Hex's \ | l < FSE08—1/2 8 PT1/2 42.15 29.7 14 22%245
FSE10—-1/8 10 PT1/8 37.25 32.1 8 12x13.0
FSE10-1/4 10 PT1/4 40.25 32.1 10 14x15.4
FSE10-3/8 10 PT3/8 41.25 32.1 11 17x18.5
FSE10-1/2 10 PT1/2 44.25 32.1 14 22%245
FSE12—1/4 12 PT1/4 44.65 36.9 10 14x15.4
FSE12-3/8 12 PT3/8 45.65 36.9 11 17x18.5
FSE12-1/2 12 PT1/2 48.65 36.9 14 22x24.5
m Pneumatic 365



21 L3 ZHE] / FLE @5
MNEd E dAlO|
g d jl;;j@—) T L H A %_EIF Hex
FLEO4—M5 4 M5x0.8P | 38.75 | 23.8 | 4.6 6.8 70x11.0
FLE04—1/8 4 PTI/8 | 40.75 | 23.8 8 16.8 10x11.0
— FLEQ4—1/4 4 PTI/4 | 42.75 | 23.8 | 10 16.8 14x15.4
ﬂ FLE06—M5 6 M5x0.8P | 44.25 | 26.5 | 4.6 7.6 10x11.0
Bl N FLE06—1/8 6 PTI/8 | 46.25 | 26.5 8 7.6 12x13.0
i e | FLEO6—1/4 6 PT1/4 | 48.25 | 26.5 | 10 176 14x15.4
EJ FLE06-3/8 6 PT3/8 | 49.25 | 265 | 11 7.6 17x185
- FLE08—1/8 8 PT1/8 | 51.15 | 29.7 8 18.7 12x13.0
) FLEO8—1/4 8 PTI/4 | 53.15 | 29.7 | 10 18.7 14x15.4
Hes FLE08—3/8 8 PT3/8 | 54.15 | 29.7 | 11 8.7 17x185
r Ll FLEO8—1/2 8 PT1/2 | 57.15 | 29.7 | 14 8.7 20%245
\Q l’« FLE10-1/8 10 PTI/8 | 48.45 | 321 8 19.6 12x13.0
= FLE10—1/4 10 PTI/4 | 50.45 | 32.1 10 19.6 14x15.4
FLE10-3/8 10 PT3/8 | 51.45 | 32.1 1 19.6 17x185
FLET0-1/2 10 PT1/2 | 54.45 | 32.1 14 19.6 20%245
FLE12—1/4 12 PTI/4 | 66.15 | 36.9 | 10 21.9 14x15.4
FLE12-3/8 B PT3/8 | 67.15 | 36.9 | 11 21.9 17x185
FLET2-1/2 1 PT1/2_ | 70.15 | 36.9 | 14 21.9 20%245
Eez{392l Ly 24 / FEP .
(SH2] : mm)
NREO =
PEE— B M| g3l | Jmim) 9o L H ke
_A N FEPO4 4 20.5 4 39.2 23.8 16.8
I — FEPOG 6 23 6 447 26.5 17.6
g FEPOS8 8 26.5 8 50.6 28.4 18.7
£ FEP10 10 29 10 55.2 32.1 19.6
- FEP12 12 33.3 12 63.9 36.9 21.9
!
E
! I
‘ (o)
T8 2 / FST .
(SH2l : mm)
NREJ E -d AFO
. S%Tw T L H A ;é—;ﬁ';' Hex
FSTO4—Mb 4 M5x0.8P | 27.25 | 37.6 | 4.6 16.8 10x11.5
FST04—1/8 4 PT1/8 | 29.75 | 37.6 8 16.8 10x11.5
FSTO4—1/4 4 PT1/4 | 31.75 | 37.6 | 10 16.8 14%16.1
L. H FST06—Mb 6 M5%0.8P | 30.25 | 41 76 7.6 10x11.5
1 T _FST06-1/8 6 PT1/8 | 82.75 | 41 8 7.6 12x13.8
: ige FST06—1/4 6 PT1/4 | 85.75 | 41 70 7.6 14X16.1
§ Emms. 1 TFST06-3/8 6 PT3/8 | 36.75 | 41 11 17.6 17x19.6
B e FST08—1/8 8 PT1/8 | 35.25 | 44.4 8 18.7 12x13.8
] FST08—1/4 8 PT1/4 | 38.25 | 44.4 | 10 18.7 14x16.1
. asra FST08-3/8 8 PT3/8 | 39.25 | 44.4 | 11 18.7 17x19.6
e FST08—1/2 8 PT1/2 | 42.25 | 44.4 | 14 18.7 20%25.4
FST10-1/8 10 PT1/8 | 37.25 | 47.2 8 19.6 12x13.8
FST10—1/4 70 PT1/4 | 40.25 | 472 | 10 19.6 14516 1
FST10-3/8 70 PT3/8 | 41.25 | 472 | 11 19.6 17x19.6
FST10-1/2 10 PTI/2 | 44.25 | 47.2 | 14 19.6 205254
FSTi2-1/4 2 PT1/4 | 44.65 | 54.8 | 10 21.9 14x16.1
FST12-3/8 2 PT3/8 | 45.65 | 54.8 | 11 21.9 17x19.6
FSTi2-1/2 12 PT1/2 | 48.65 | 54.8 | 14 21.9 20525 4
m Pneumatic 366



T 29E /FSTL

HEX| Z|E

(E4 : mm)
= EERE e
& # o7 (@) T L H A 2 olF Hex
FSTLO4-M5 4 M5x0.3P | 42.3 | 254 4.6 16.8 10%11.5
H FSTLO4—1/8 4 PT1/8 453 | 25.1 8 16.8 10%11.5
= FSTLO4—1/4 4 PT1/4 483 | 25.1 10 16.8 14x16.1
o FSTLO6-M5 6 M5x0.8P | 46.1 | 28.1 4.6 17.6 10%11.5
J FSTLO6—1/8 6 PT1/8 48.6 | 28.1 8 17.6 12x13.8
1 B FSTLO6—1/4 6 PT1/4 51.2 | 28.1 10 17.6 14x16.1
, [ FSTLO6-3/8 6 PT3/8 522 | 28.1 11 17.6 17x19.6
gt FSTL08—1/8 8 PT1/8 522 | 30.9 8 18.7 12x13.8
e \1 FSTLO8—1/4 8 PT1/4 552 | 30.9 10 18.7 14x16.1
N FSTL08-3/8 8 PT3/8 56.2 | 30.9 11 18.7 17x19.6
e FSTLO8—1/2 8 PT1/2 59.2 | 30.9 14 18.7 20x25.4
“[ ,‘*JU FSTL10-1/8 10 PT1/8 55.6 | 34.6 8 19.6 12x13.8
AR FSTL10—1/4 10 PT1/4 58.6 | 34.6 10 19.6 14x16.1
FSTL10-3/8 10 PT3/8 59.6 | 34.6 11 19.6 17x19.6
FSTL10—1/2 10 PT1/2 62.6 | 34.6 14 19.6 20x25.4
FSTL12—1/4 12 PT1/4 64.8 | 40.3 10 21.9 14x16.1
FSTL12-3/8 12 PT3/8 65.8 | 40.3 11 21.9 17x19.6
FSTL12—1/2 12 PT1/2 68.8 | 40.3 14 21.9 20%25.4
Y& ZUE| / FSY (@ : mm)
MNRLEY E -d ALO|
E ;%?;)) T L H A 2 olF Hex
FSY04—M5 4 M5x0.8P | 34.8 21 4.6 16.8 10x11.5
" FSY04—1/8 4 PT1/8 13 21 8 16.8 10x11.5
—_ Tuxo FSY04—1/4 4 PT1/4 423 21 10 16.8 14x16.1
B FSY06—M5 6 M5x0.8P | 41.6 25 4.6 17.6 10x11.56
. FSY06-1/8 6 PT1/8 441 25 8 17.6 12x13.8
FSY06—1/4 6 PT1/4 471 25 10 17.6 14x16.1
FSY06-3/8 6 PT3/8 481 25 11 17.6 17x19.6
y Kq_ ﬁ}/ FSY08—1/8 8 PT1/8 455 29 8 18.7 12x13.8
FSY08—1/4 8 PT1/4 48.5 29 10 18.7 14x16.1
| I FSY08-3/8 8 PT3/8 48.5 29 11 18.7 17x19.6
1 FSY08—1/2 8 PT1/2 52.5 29 14 18.7 22%25.4
Hex'e /et T FSY10-1/8 10 PT1/8 49.2 35 8 19.6 12x13.8
l J“[ FSY10—1/4 10 PT1/4 52.2 35 10 19.6 14x16.1
I FSY10-3/8 10 PT3/8 53.2 35 11 19.6 17x19.6
FSY10-1/2 10 PT1/2 56.2 35 14 19.6 22%25.4
FSY12-1/4 12 PT1/4 54.5 41 10 21.9 14x16.1
FSY12-3/8 12 PT3/8 55.4 41 11 21.9 17x19.6
FSY12-1/2 12 PT1/2 58.4 41 14 21.9 20%25.4
Ez2{32 Yo sAHAT| / FEY (5491 mm)
MNREJ E -5 A}O|
B Tieo | SR I e, J J@) L H i
i FEY04 4 20.5 4 56.7 21 16.8
FEY06 6 23 6 61.1 25 17.6
FEY08 8 26.5 8 67.4 29 18.7
FEY10 10 29 10 74 35 19.6
FEY12 12 33.3 12 83.6 4 21.9
‘ Yoy _
m Pneumatic 367



olEd %l TlE
'.";'I E'I xI .LL| c:!
=81 s sA A7 / FEYR (48] - mm)
H - ] S oA
W‘% E o % (@) J J@) L H o oF
‘ FEYR0604 4 23 6 56.2 21 176
“[ i ] FEYR0806 6 26.5 8 61 25 18.7
== 7 FEYT1008 3 29 10 69.1 29 19.6
_:W FEYR1210 10 33.3 12 76.7 35 21.9
T
| B
| il
‘ Jo)
UXE SA 9947| / FUE (491 : mm)
- HgRe | e
_ 74'H i = o o (@) H L Nail hole(®) 2 olF
_L FUEO4 4 346 12.75 33 16.8
FUE0B 6 36.8 14.75 33 17.6
FUE08 8 39.4 19.85 43 18.7
FUE10 10 432 20 43 19.6
FUE12 B 4738 23.3 43 21.9
LAFSE A AZAT| / FUL (k! < mm)
H . HgRe seae
F & ¢ o7 (@) H L Nail hole(®) 2 olF
T FULO4 4 36.6 242 33 6.8
I ) FULO6 6 18 27.5 3.3 17.6
il :L| FULOB 8 44.9 30.65 43 8.7
3 L =% FUL10 10 48.2 34.05 43 19.6
¥ Nail Hole o FUL12 2 56.8 39.85 43 21.9
I
TAFA A A7 / FUT (2l mm)
HNEY E -d A0
| . = TR B e - H L Nail hole(0) | 575
= f] FUT04 4 36.6 24.2 3.3 16.8
[ FUTO6 6 41.8 275 3.3 17.6
el - i FUT08 8 44.9 30.65 43 18.7
G » FUTI0 10 18.2 34.05 13 196
\ \ai Holoe FUT12 12 56.8 39.85 43 21.9
1
[ ]
m Pneumatic 368



UK A ¢4A7| / FUER (191 < mm)
) MNRE B0
\ H i oo H8FE2EP) H F-C F-D POE POF
FC I FD A B
< - FUER06-04] 6 4 36.6 17.6 16.8 12.5 10.5
w'sT i sk FUER0S-06| 8 6 376 18.7 176 145 125
ISER H g2
54 2 FUER10-08] 10 8 41 19.6 18.7 17.5 14.5
FUER12-10] 12 10 44 21.9 19.6 205 17.5
YRS A 994 7| / FUY
(SH2l : mm)
1<—F;—ﬁ EEEREEEEEER) H L F P Nail hole(®)
— L e FUY04 4 21 37.1 16.8 10.5 33
] 1\ ‘ ‘ FUY06 6 25 402 17.6 125 33
s ‘ ° FUY08 8 29 434 18.7 145 43
| A e
A S 5 FUY10 10 35 477 19.6 175 43
18 i p— FUY12 12 41 53.3 21.9 205 43
X A I E— Nait Holep
YR A 47| / FUYR
(SH2] : mm)
H MREHOA
ToPF | _oPF B 8F=Ade) | H F-C F-D | P®E | P@F |Nailhole @
Tube oA | Tube @A A B
i FUYR06-04] 6 4 379 2 17.6 168 | 125 |105| 33
J Y FUYR08-06] 8 6 | 41.3| 25 18.7 176 | 145 | 125| 43
< FUYR10-08] 10 8 | 43.3| 29 19.6 187 | 175 | 145| 43
JRhani Sinn FUYR12-10| 12 | 10 | 465 | 35 219 196 | 205 | 175| 43
Nail Holee
o
?
===
L]
TubeoB
aP-E
AR A HAHT| /FUC
H (EH2] - mm)
I — Nail Holeo & # | H8FE2ZE(®) | Nail hole(®) H L T
/= FUCO4 3 33 36.6 37.9 16.8
g '_@ FUCO6 6 3.3 1138 125 17.6
ei s T FUC09 8 43 44.9 16.8 18.7
S L Hd FUCT0 10 43 48.2 50.5 19.6
nm ‘ FUCT2 12 43 54.8 57.2 21.9

m Pneumatic 369



HE|SA HAT| / FUM (491 < mm)
EEL R
—Fo R o 'E(;p Nail hole(®) |~ H L | E=4YZoF| F-D
FUMO06-04| 6 4 3.3 24.2 63.7 17.6 16.8
FUM08—04| 8 4 4.3 28.5 65.7 18.7 16.8
FUM08-06| 8 6 4.3 34 7.7 18.7 17.6
FUM10-06| 10 6 4.3 32 78.1 19.6 17.6
FUM10-08| 10 8 4.3 34.5 83.4 19.6 18.7
o = =
HE|SA 24E / FUMC (491 mm)
HEFEQH(P)| Nail S249
B L . = w4 ™ T—HH -
ey e = A B |hoe(@| M | & | zoF O] A | T | Hex
= :: e H‘F_”“'i Ll FUMC0604-1/8] 6 4 33 | 242 ]723] 176 |16.8] 8 |1/8[12x1338
1 i s i A —
= AR Ty, FUMC0B04—1/4] 8 4 43 | 285 |77.2] 187 |16.8] 10 |1/4][17x19.6
maoeo ST TTTHIT P e B FUMC0806—1/4] 8 6 4.3 34 |84.4] 187 [17.6] 10 [1/4]17x19.6
- HEe=e=e—s . FUMC1008-3/8] 10 8 43 345 91 19.6 | 18.7] 11 |3/8[22x25.4
TUBEoB

SA 04A
E| A H4Z7| / FUML @l mm)
M RE HOQ|7 E -d AlO|
g ow R el h L [T o | 0 e
FUMLO0604 6 4 3.3 24.2 84.3 17.6 16.8 25 6
FUMLO0804 8 4 4.3 28.5 89.5 18.7 16.8 28.5 8
FUMLO0806 8 6 4.3 34 95.5 18.7 17.6 28.5 8
FUML1008 10 8 4.3 34.5 | 109.7 19.6 18.7 31 10

(EH2] : mm)
N HE5=

= H o (@) T L H A Hex
o FSES04—M5 4 M5x0.8P | 221 26.6 G 8x9.24
' / v FSES04—1/8 ] PT1/8 32.4 35 3 14x16.8
R p— FSES06-M5 5 M5x0.8P | 22.1 27.2 46 8x9.24
. ﬁ_ FSES06-1/8 6 PT1/8 32.4 32.4 3 14x16.8
= g FSES06—1/4 6 PT1/4 35.3 35.6 10 17x19.6
.| M G FSES08-1/8 8 PTI/8 3.4 392 8 T4%16.8
=\ | FSES08—1/4 8 PT1/4 35.3 377 10 17x19.6
< j FSES08—3/8 8 PT3/8 39.7 42.7 11 21x24.2
—— FSES10-1/4 10 PT1/4 35.3 42.5 10 17x19.6
FSES10-3/8 10 PT3/8 39.7 43.6 11 21x24.2
FSES10-1/2 10 PT1/2 478 5.6 14 24%27.7
FSES12-3/8 12 PT3/8 39.7 45.9 11 21x24.2
FSES12-1/2 12 PT1/2 478 8.3 14 24%27.7

m Pneumatic 370



E
™ —
®4,96,08,10,912

o E RE

oL, WES, WEAY, UE, WAEY, Hrd 24
sl Td, H2FY, B2y 24
oIl 1 SOI510] XA BhAF

A8 ] H| e 3 7
o 1 2 2 |MPa(bar) 2.3~(23)
ALE 2t # 9 |MPal(bar) 0~0.9(0~9)
z 9 2 = o -15~60
M a EEREE
®5C 0|5t X 20iA ALEAl SZ2| ?lglo| Y22z
E2t0j0] S8 Sall AW HEE SIIE A8 A2
F— °lg Wz SH B A ZEUE 22
(mm) (mm) (mm) (g/m) (mm)

PHHU—-4x2 4 2 1 11 10 LB: &% C:28

PHHU—-6x 4 6 4 1 19 15 B: g™

PHHU—-8x%5 8 5 1.5 37 23 Y RS

PHHU—-10x6.5 10 6.5 1.75 55 30 R:3E=

PHHU-12x8 12 8 2 76 35 G:az

PHHU|- (4] x(2]- (B
Ze|

s2 97

LENE

L A=Y

m Pneumatic 371



	1.Actuator 
	2.Valve
	3.Vacuum
	4.FRL Unit
	5.Accessory
	Logic
	Fitting
	Controller
	Rod Option
	Silencer

	6.Electric

